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2V IR T BIRES 1 E e cat=1.5(0 ck/B0) = 1,5(18/80) = 0.33 N/mm?
- IDEEAMIRAE 1 ca=1.5(0ck/10040,15) = L6 (18/100+8,15) = 0.49 N/nim?
" MEHR :
S v TERfir M
”f”"““ KN KN m KN'm
w1 1/2 X 1.0072 X 0,50 X 23.00 - _ 5.75 0.3 1.92
BiFER " 1.00X0.50 X 23,00 - 11.50 0.75 8.63
+E Puh 1/2%h1" 2¥kaudh* y u 0.00 - 0.00 0,00
Puv 1/2+h1 3%kaudvt y u — 0.00 1.00 0.00
[Lib ¥ F JL.EER 52.55 0.50 -26.28
At 52.55 "17.25 -15,73
I MEHNR
M -15.73 .
d= = = «0.90 m
v 17.25
| e | =Bif2-d= L4l m
o) —hRE O RS H E ) .
ccl=  V/Bi*(1+6e/Bi) = 163.4 kN/mP= - 0.164 N/mm® Soca= 6.75 N/mm®
rrearaw OK .
ac2=  V/Bir{l-6e/Bi)= ~128.9 kN/mf= =0,128 N/mmé Z- g eat= -0,33 N/mm?
oS Lo A S A crenrs QK
A=BiX1,0m= LO 2
te=§/A= 52,6 kN/m*= 0,053 N/mm? = tea= 0.4% N/mm®
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21k i

BRORE| 2o A
Hs hy | 6u | 8d Falw,
m m ° ° n m/s kN/m? N\
30.0 1.0 | 40 0 | 3.0 }0.45(-0 26|7.64 105. 1
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B 2-7 WLNREARE

W - sin(w — 6 )

zcos(w—ﬁ’-—a—é)

ol W EEUOES (Nm)
PNEES B (kNAm) :
o BREEEREMOLTHRC )
&' T EIZE ST AUBERAC )
S BEENEIBE (° )
w EEDEFARYELKEEOES A )
Bi5EEMSE L= 1.0 Jm
TERRENdI=[Z0 m /
EAHLIHORMFKER 7o N/m®
BADLBORSRER Ju= °
+EREEREROET B aw=°
BERES o= 30\ | (=¢)
PYLEORERE 6/~ 30 ¥ (LE:H)

‘ wyrEomf =105 ] \= [_eal

Pud= [ 10.49]kN/m
Pudh=Pud-cos (e + 8 ) =10. 49X c0s (30.00° ) = [\ 9. 09}ki/m
Pudv=Pud-sin{a+§)=10.45Xsin(30.00° )= \5.24]kN/m

< . 2Pudh  _ 2-9.09 _ -
REFHH Kaudh 7. B  19.0-4.0 5\239
AN

\ ___2Pudv.  _ 2+5.24 - \
EAEHT Keud v by 15040 0.138
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HEDRMHE [ERG K (TEREE)] WrnEoHE v/ [ 190k
KON L2 00fin/ut
BB BIRRE » = 0. RBROVEXIAE [aa=  [___450)n/n?
ogem = 10 wog B= [ ZHm
W RHN +
. v ERR M
—t
‘,Jr;‘ﬂ /N kN m kN-m
w1 1/2%4.00°2%080%230 |/ - 92.00} x=1.33 122,36
pEEE (w2 4.000,50 X2} 0 A - 46.00] x=2.25 103.50
w3 1/2%0.50 X 1.00% 1.0%23.0/ -~ 575 x=3.00 17.25
xantK {3.00— 1,00} X 1.0%0.5X 270 — 19.00| x=2.75 52,25
- Pudh TN 9.09 - y=2.50 |  -22.73
WALE [ TN ARN - 5.24 %=3.00 15.74
w®h |F o *Fsmehsy! \ §2.55| — y=3.50 | -183.93
- 4H(D) / Y,  61.64] 16799 104.42
3 HEHN
M 104.42
Chsgliza ozl (d= i =
v 167.99 .
| e} =B/2-d=2.50,/2~062= [ 0.63|m :
. . PO OK
ORI AR
u X EV+Cyel 0.60% 167.99+0.00 X 2.50
E
61.64 w - OK
2, 0.415 =B/eLYE AL,
2% 167.99
[ 450]u/m?
3%0.62 ' - OK
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